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All Questions are Compulsory.
Figure to the Right indicates i"ull Marks
Assume Suitable Data if necessarv.

Section - I
Ql (A) what are the different methods employed in tacheometric survey? Describe the methodrnost commonly used.

{B) Explain theory of triangulation system with net sketch.
OR

s:,Q1
ir.:. .J

Derive the Distance and Elevation formula for staff vertical (inclined sight) and Normal.Definition: Base line, Triangulation figure. 6
6

3,:"::tl":lt::i.::,Xt:: 
,::Ti:ys w€re raken from an insrrument station A, rhereduced level of rv-hich was 101.06 m to a sraff station B-(a) irutnunent P fi-100, C=0.06 rn, Staff helcl vertical

What should G

(A)

{B) Explain "Ciassi fi cati on of Triangirl ation System,,

OR
A tacheometer was set up at station A and the following readings were obtained ona vertically held staff,

calculate the horizontal distance from A to B a'd the RL of B, if the constants of theinstrument were 100 ancl 0.4
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0.755,  1 .005,1 .255
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Remarks

B.M. -2"19' 3 .255,3 .550,3 .975RL of BM
437.655 m

B +8'36' 1 .650,  2 .515,3 .3S0

eso ta t rangle ABC were recorded aq fnll
Angle Degree(o) MLute(') !econd(") WeiehtA 77 1 A

2 U
B 4

49 40 35 3c 53 A5 52 2rrected vaiues of the angles.
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Q3 (A) The stadia intercept read by means of a fixed hair instrirment on a verticali;, held staff is1 ' 15 m' the angle of elevation being 6" -16' . The instrument constants are t 00 and 0.4. whaiwould be the trrtai nos. of tums registeretl on a rnovable hair instrument at the same stationfor a l '85 m intercept on a staffh.ld on tire same point, the vertieal angle in this case being6"24' and the constants 1000 and 0.6
{B) The followiollowrng atrgles were measured at a station of s aq fn  o incc  f l .o  h^ . . i

Angle Degree(c Minute{ ' ) Second( " ) Weight
ftL,, o 83 4 Z ) R  7 C
BOC r02 15 43.26 ;coD 94 38 27.22 4
IJOA / 9 73 23.77 2Adjust the angles.

Section - II
Q4 (A) A surveyor carried out leveling operations of a crosed circuit ABCDA starting frornA and found that

B rvas 6.71 mete.l above A
C was 5.59 meters above B
D was 3.49 meters above C
D was 13.72 rneters above A
The accuracy of all the four leveling operations is to be assumed equal. I-)eterminethe probable heights cf 13, C and D uUo". A by the method of Ccr:retrates.

(B) lhe localm3al tlme at a place in longitude 69030'E is gh 20n' 16'. Find rhe standard time ifthe place is in India.

{c} whax is the dif1brence i}et\,veen map and mosaic in photogrammetr,v?
+R

Q4 (A) Find the most e values o le A, B and from the follou nhser'.'nf
Anpkr fr^^.^^rCue6 r  sc t fv4 in ute('i Second{") Weight

A 45 ?6 48.5 2
52 r+J 24.5 5

C 48 34 22.s 4.

A f D 9B 10 12.5 1
8+C 101 t7 47.5 1

(B) FindtheG.M.T.correspondingtothelocalmeantimeofi1m;;,
longitude on 4go 36, E.

(c) what is the difference between distortion and displacement in photogrammetry?(A) A photographic survey was carried out at.a nyirrg ireight of +sool. focal lenglh of thecamera lens 15cm, the photographic plate size was"23 cmx23cm and the overlap along thedirection of flight was 61Yo. calculate the error in height rneasi.ii:efi'ent fbr an error of0,lmm in the parallax measllrement.
(B) Define the following term: a) Hour angle b) right ascension c) solstice

OR(A) The base position gf ? 819* high mountain is at 9cm from the flight line on a flighr map.If the flying altitude is 5600m ibou, rhe datum. calculate the relief displaceineni of theiSage-of the peak and its ii istance from the.ag. of ih, nhotosrenh oi--,c- rhar rlro nino ̂r
the print is22.5 *m x 22.5 cm. 
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s/rite a short note on foilowing terrns with ciean and neat sketch.a) star at culmination b) deciination
What is Remote Sensing? Explain Mie scattering?
what do you mean uy ctsz Elaborate types of data in rvhich GIS technology utilizes it.Explain eccentricity of tne orbit in 

"q*iion of time.
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